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Primary education in Bihar is in a poor shape. Pupils in over 50 percent of the
schools read in the opne throughout the year. Over six million children born to lower
income group parents remain unlettered. Not even one percent of the 63,000
primary schools have facilities of furniture, toilet, drinking and games. 3113 new
teachers have been appointed in the current financial year out of which 2747 are
women. Now each of the 13,270 primary schools have atleast two teachers.

Question: 1

630 primary schools in Bihar have all the facilities like furniture, toilet, drinking
water, games.

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in
the passage.

(B) if the inference is ‘probably true’ through not definitely true in the light of the

facts given.

(C) if you think the data are inadequate i.e., from the facts given you cannot say

whether the inference is likely to be true or false.

(D) if you think the interference is ‘probably false’ though not definitely false in the

light of the facts given and

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts.
Ans: C

The given fact is neither mentioned in nor can be derived from the given passage.
Question: 2

In Bihar, 50 percent of the primary teachers are women.

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in

the passage.

(B) if the inference is ‘probably true’ through not definitely true in the light of the

facts given.



(C) if you think the data are inadequate i.e., from the facts given you cannot say

whether the inference is likely to be true or false.

(D) if you think the interference is ‘probably false’ though not definitely false in the

light of the facts given and

(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts.
Ans: C

The given fact is neither mentioned in nor can be derived from the given passage.
Question: 3

A large number of primary schools in Bihar are one teacher schools.

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in

the passage.

(B) if the inference is ‘probably true’ through not definitely true in the light of the

facts given.

(C) if you think the data are inadequate i.e., from the facts given you cannot say

whether the inference is likely to be true or false.

(D) if you think the interference is ‘probably false’ though not definitely false in the

light of the facts given and
(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts.
Ans: E

It is mentioned in the passage that each of the 13,270 primary schools have at least two

teachers.
Question: 4
There are six million belonging to lower income groups in Bihar.

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in

the passage.



(B) if the inference is ‘probably true’ through not definitely true in the light of the

facts given.

(C) if you think the data are inadequate i.e., from the facts given you cannot say

whether the inference is likely to be true or false.

(D) if you think the interference is ‘probably false’ though not definitely false in the

light of the facts given and
(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts.
Ans: A

According to the passage, about six million children are born to lower income group parents.

This clearly implies the given fact.
Question: 5
Classrooms of most of the primary schools in Bihar are inadequate.

(A) if the inference is ‘definitely true’ i.e., it directly follows from the facts given in

the passage.

(B) if the inference is ‘probably true’ through not definitely true in the light of the

facts given.

(C) if you think the data are inadequate i.e., from the facts given you cannot say

whether the inference is likely to be true or false.

(D) if you think the interference is ‘probably false’ though not definitely false in the

light of the facts given and
(E) if you think the inference is ‘definitely false’ i.e., it contradicts the given facts.
Ans: B

It is given in the passage that pupils in more than 50 percent of the schools read in the open.

Perhaps this is because the classes provided are inadequate.
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